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General Instructions :

10.

The question paper comprises of two sections, A and B you are to attempt both the sections.
All questions are compulsory.

There is no overall choice. However, internal choice has been provided in all the three questions
of five marks category. Only one option in such question is to be attempted.

All questions to section A and all questions of section B are to be attempted separately.
Question numbers 1 to 4 in section A are one mark questions 6. These are to be answered in
one word or one sentence.

Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.
Question numbers 26 to 41 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION - A

From where do plants acquire the following nutrients ?
(a) Nitrogen
(b) Hydrogen

What are the two components of a solution ?
Define mass of an object ?
Why is G called the Universal Constant ?

How can insect pests in crop plants and stored grains be controlled ?

(a) Expand DNA ?
(b) In which part of a cell it is found ? State its function.

(a) Identify the type of plant tissue given below. Where in the stem of a plant would
you find this tissue ?

(b) Label the parts marked ‘A" and ‘B’.
v
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|

Dcmﬁ

What is meant by :
(i) free fall
(if) acceleration due to gravity ?

What can you say about the motion of an object whose distance time graph is :

(i) a straight line, parallel to the time axis
(ii) a straight line passing through the origin making an angle from the time axis.
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Can a body have constant speed and still be accelerating ? Give an example.

Calculate the force required to produce an acceleration of 2ms ~2

10 kg.

in a body of mass

Which gas is called dry ice ? Why ?

Classify the following as physical or chemical changes :
(a) formation of cloud

(b) magnetising an iron bar

(c) burning of fuels

(d) digestion of food

How is green manure prepared ? When is it added to the crop plants ? What is the
advantage of this type of manure ?

List six facilities that must be provided to cattle to ensure their good health and
production of clean milk ?

(a) Draw a labelled diagram of a neuron. (Three labellings)
(b) Identify the tissue which is made up of these cells.
() Name one organ that is made of this tissue.

Give reasons for the following :

(a) The smell of baking cake from the kitchen reaches you in the bedroom.
(b)  After your morning exercise you feel cold.

(c) A gas fills completely the vessel in which it is kept.

(a) Convert the following to Celsius scale (i) 400 K (ii) 373 K.
(b)  Convert the following to kelvin scale (i) 27°C (ii)70°C
(c)  What does the melting point of a solid indicate ?

A cube of side 5cm is immersed in water and then in saturated salt solution. In which
case will it experience a greater buoyant force. If each side of the cube is reduced to
half and then immersed in water. What will be the effect on the buoyant force
experienced by the cube as compared to the first case for water ? Give reason for each.

List in tabular form any three differences between ‘g” and ‘G’.

What is uniform circular motion. How is uniform circular motion regarded as an
accelerated motion. Give an example of such a motion.

State the action and reaction in the following :
(a) moving rocket

(b) firing of a bullet from a gun

(c) a person walking on the floor.
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In the diagram given below identify the part marked B and C
What are the substances that organelle A stores ?
Mention one function of organelle B and C.

What are cisterns ?

OR
Observe the figure given below and answer the questions.
(a) What has happened to cell A and B ? Explain.
(b) Identify the type of solution into which cell A and B are placed.

() Name and explain the process that has taken place in cells A and B.

Explain an activity with a neat labelled diagram for the separation of a mixture of
ammonium chloride and sodium chloride.

OR

How will you separate a mixture of two miscible liquids having difference in boiling
points of more than 25°C. Describe with the help of a neat labelled diagram.
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In a high jump event the athletes are made to fall on a sand bed or on a cushioned
bed. Why ?

Define momentum. State its S.I. unit.

An object of mass 10 kg is accelerated uniformly from rest to a velocity of 8m/s in
6 s, calculate the final momentum of the object.

OR

When a motor car make a sharp turn at a high speed, we tend to get thrown to
one side. Why ?

State Newton’s 15t and 3'9 law of motion.

A force of 5N gives a body of mass ‘m” an acceleration of 10m/s?, Calculate the
mass of the body in grams.

SECTION - B 16x1=16

Arun, Deepa, Uma and Priya were asked to select a plant material which would not
give blue black colour with iodine solution. Who did not select the right material ?

Arun selected maize grains.
Deepa selected wheat grains.
Uma selected ground nut seeds.

Priya selected potato.

Deepak washed a few grains of tur dal in water. The water became yellow.

He then added a few drops of HCI to the same test tube, the water turned pink in
colour. From the above test Deepak concluded that tur dal contains.

(a) proteins
(b) starch
(©)

(d) metanil yellow

turmeric

28. The outer most layer in a cheek cell is the :

(@) cell wall

(b) cell membrane
<)

(
(d) protoplasm

cellulose
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29. Cells in an onion peel are arranged as shown in figure :

In the
a

)
b)

(
(
(
(

cells of an onion peel the nucleus is seen on one side of the cell because of the :
presence of a large central vacuole.

presence of a many large vacuoles.

c) presence of many small vacuoles

d) absence of vacuoles.

To prepare a temporary mount of the cheek cells :

a

b

<)
d)

(@)
(b)
(
(
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scrapings are taken from outer surface of the cheek.
scrapings are taken from the inner surface of the cheek.
sediments are collected from a beaker after gargling.

a mucous from the throat region is used.




Rema heated a mixture of iron filings and sulphur in a hard glass test tube for sometime
till a greyish black product was formed. She cooled the test tube and added a few
drops of carbon - di - sulphide and shack the contents well. Which of the following
observation made by her was correct ?

The colour of the solution remains the same
The solution turns blue
The solution turns green

The solution turns yellow

The following four substances are added to water in four separate beakers and are
stirred well milk, starch, common salt, sand. A clear and homogeneous solution will
be obtained in case of :

(a) Milk

(b) Starch

(c) Common salt
(d) Sand

On heating copper sulphate crystals in a hard test tube it is observed that :
the substance sublimes.
brown fumes are evolved.
a grey mass is formed.

a white residue is left.

Which of the following would you choose to determine the melting point of ice in your
laboratory ?

(a) dry crushed ice

(b) ice cubes
)

(c
(d) stab of ice

ice added to water

To prepare a colloidal solution of starch one should first :
add starch powder to boiling water.
add starch powder to cold water.
heat starch powder and then add water.

add a thin paste of starch powder to boiling water.
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Which of the following characteristic of iron sulphide and mixture of iron filings+sulphur
powder is correct ?

(a) Both are heterogeneous
(b) Both are homogeneous

() A mixture of iron filing and sulphur powder may be heterogeneous or
homogeneous but a iron sulphide is always homogeneous.

(d) Ironsulphide is heterogeneous but the mixture of iron filings and sulphur powder
is homogeneous.

Which of the following techniques is used in separating sodium chloride from a mixture
of ammonium chloride, sand and sodium chloride.

(a) Crystallisation
(b) Sedimentation
(c) Filtration

(d) Sublimation

A beam of light is passed through soap solution, sugar solution and starch solution. In
which of the following the path of light will be visible ?

(a) soap solution only

(b)  starch solution only

(c) starch solution and sugar solution
(d) soap solution and starch solution

An iron nail was dipped in blue copper sulphate solution. After about an hour it was
observed that :

(a) areddish brown layer deposits on the iron nail
b)  a blue layer deposits on the iron nail

(
(c) the solution turns red
(

d) a grey deposit in seen on the iron nail

A thermometer has 20 equal divisions between 90°C and 100°C marks. A student
while determining the boiling point of water finds that the mercury thread becomes
stationary at the 19t mark above 90°C. He should record the boiling point of water
as :

a) 90.19°C

b) 99.5°C
109°C
119°C
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